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Name: Sec. Roll no.

Date:

Note: Write answers in the given space.

Study the figures and answer the questions.

1. How many squares are there in the Fig. ?
{a) 6 ) 10 {c} 12 (d) 7

2 . How many triangles are there in the Fig. ? \
(@) 12 () 8 (¢) B (d) 4 AN

3. The no. of rectangles in the Fig. is
(a) 2 () 3 {c) 4 (d) 5

Y, What is the number on the face opposite to 3 ?

<3 =
(a) 6 (b) 4 (c) 1 ) 5 3 [ 5 @

5 What will come next in the sequence ?

][] Oo-
@ Y] ® (o © @ Q)

6. The mirror image of !' _is

(a) ;JF' (®) —L—ju (c) n (d)

84

Select the correct option in each question.

-7 The greatest 5-digit number formed by using the digits 6, 0, 9 (where two of the
three digits are allowed to repeat twice only) is

(a) 96690 (b) 90066 (e) 69900 (d) 99660
g The estimated difference of 64961 and 33705 to the nearest hundred is
(a) 31500 (&) 31300 (¢} 31200 (d) 31000
q According to the commutative property, we have ’
" (a)a+b=b+a b) axb=bxa
(c) alb + ¢c) =ab +ac (d) Both (a) and (b}

10. Area of a rectangle of 24 m long is 240 m2. Its perimeter is
(a) 112 m () 42m (¢) 68 m (d) 92 m

11. If the cost of 2 dozens of bananas is T 78, the cost of 50 bananas is
(a) ¥ 158.50 () T 160 {¢) ¥ 162.50 (d) T 165.25



g e . I . .
12. One child is given 15 plece of cake and amother child is given 1—;— piece of cake.

The total amount of cake given to both of them is

3 1 1 5
1= b 3= - 20 d) 2—
(a) 3 (b) 6 {c) 6 (d) P

1%, 40 m is equivalent to
{a) 0.4 km (b) 0.14 km (¢} 0.004 km (d) 0.04 kmn

1y A person had a 1000-rupee note. He spent ¥ 369.45 for grocery items 7 405.75 for
cosmetics. The amount left with him is

(@) T275.60 () 2224.80 (c) T314.80 (d) T 204.60

In each question, select a suitable figure from the answer
figures that would replace the question mark (?).

Problem figures : Answer Agures :

15, AA A DD 2 ' Ii[ @ ;l l;l

(a) (b) (e) (d)

16 Problem figures : : Answer figures :
) H &L %o o o _o
- o }Oo I3 . o RIEC 6% | %%
' <t (@) (b () (d)
11 Problem figures : Answer Hgures :
N ﬂ L
K> Jey 2 — /\% =
) (a) b) (c) (d)
18. Problem figures : Answer figures :
?
(a) (b) (c) ()

In each question, select a suitable answer

19. In the given puzzle, the value of x is q 7 -
(@) 10 &) 15 22N :
() 16 (d) 20 %b

348 The value of A is [18]32] [20]31] [27]11
(@) 30 b) 8 (e) 13 (d) 5 |8 {22] [ 9 [20] [28]A




Fly me to the moon

The moon, unlike Earth, does not have an atmosphere
so temperatures vary a lot over its surface. Some
scientists have placed probes to measure the
temperatures at different points on the moon.

Station 1 Station 2 Station 3 Station 4
Night 150 °C 1122 °C 100 °C 196 °C 120 °C
Day 90 °C '3°C 80 °C 196 °C 110 °C
Station 6 Station 7 Station 8 Station 9 Station 10
Night 1170 °C 1125 °C 1166 °C 1157 °C 184 °C
Day 170 °C 0°C 152 °C 120 °C 214 °C

1 What is the difference between night and day temperatures at:

a Station7? _125°C b Station 3? c Station 1?
d Station 67 e Station 5? f  Station 4?
g Station 2? h Station 10? | Station 8?
j  Station 9?

2 Which stationds temperature varies:

a themost? b the least?
3 Find the temperature difference at night between:
a Stations 7 and 3 b Stations 3and 5
c Stations 1 and 10 d Stations 6 and 4
e Stations 5 and 2 f Stations 2 and 8
g Stations9and 1 h Stations 10 and 4
NOW TRY
TH'S; * Find stations with a day temperature difference of:

100°C 186°C 173°C 86°C 248°C 310°C




| Prime suspect l

The Polka Dot Kid is hiding and the police

are trying to find him.

Ashade the dots for all the numbers below that
are | prime numbers |.Then join them in order, from
smallest to largest, to find where he is.
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NOW TRY
THIS!

* Choose two prime numbers and add them together.

Can you find an answer that is a square number?




